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General Instructions :

1.

354

(i) Please read the instructions carefully.

(it) This question paper consists of 20 questions in two sections : Section — A
& Section — B.

(iti) Section — A has Objective Type Questions whereas Section — B contains

Subjective Type Questions.

(iv) Out of the given (5 + 15 =) 20 questions, a candidate has to answer
(56 + 10 =) 15 questions in the allotted (maximum) time of 2 hours.

(v) All questions of a particular section must be attempted in the correct order.
(vi) Section — A : Objective Type Questions (24 Marks)

(1)
(2)

(3)
(4)
(5)

This Section has 5 questions.

It is mandatory for every student to complete all the questions as
per instructions.

There is no negative marking.
Do as per the instructions given.

Marks allotted are mentioned against each question/part.

(vit) Section — B : Subjective Type Questions (26 Marks)

(1)
(2)
(3)
(4)
(5)

This Section has 15 questions.

A candidate has to do 10 questions.
There is no negative marking.

Do as per the instructions given.

Marks allotted are mentioned against each question/part.

SECTION - A
(Objective Type Questions)

Answer any 4 out of the given 6 questions on Employability Skills: 4x1=4

(1) Personality affects all aspects of an individual’s performance. Enlist

any two personality traits. 1)

(11) What is the shortcut key to insert current date in a cell ?
(A) Ctrl+; (B) Ctrl+T
(C) Ctrl+D (D) Ctrl+'1 1)
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(ii)

(iv)

(v)

RO H YA AT g |

(A) v (B) STH el

(C) ea™=H (D) =T (1)
_ uw Ut o R e v ehfaes dEeE €id % qred, foemr sremEn
fiRTere =t Teht o foru, Sfera sarareen =t gt o forg fepam wmaT & |

(A) AT (B) wR&

(©) wpfa (D) et (1)
_ TTEehI hY STEYshAT3l Sl QU i T T AT o foTT TR BT SwRIAT
HToh AU IS fIeh b i 3T HTH™ AT hi Teh UTshaT & |

(A) SIUR A=A (B) S NIR A9

(C) Segmefierar (D) =AM femm (1)
(vi) ot sfea uftfeufe = qama 61 aoig @ BF aTeft fear sl FTwed © 7

(A) H IATH-THH (B) wHIfaeIsHa

(C) = (D) oAt TR (1)
few w6 et @ fenedl 5 It o ST T 5x1=5
(i)  TESITE o1 T8 =1 STFNThAIA hl SEtd] 3T I¢Ta] ol THEH o 7T gHiia 2 |

Q) & (B) WrRTEY

(C) fewr (D) wreft (1)
() STl G <l Uk T T I TR R

(A) hifesT B) ferf

(C) efifem (D) fafem (1)
(iii) COSHH Heaieh i foham ST 8 2

(A) T T 3TThel A & few

(B) e % foTu gk wmft o1 et i & forg

(C) Tordl 3cuTe 1 SHTd HHY TWRHT & 3cUTed ¥ 8F aTet ey geefl Taul <l
3TeheH L o faTg

(D) THEAT hl G ST HAThei BT 1)

Page 4 ~



354

(111) The 1s the person who transmits the message.

(A) Sender (B) Receiver

(C) Decoder (D) Driver 1)
(iv) __ 1s the term used to denote proper management of a natural

resource to prevent its exploitation, destruction or degradation.

(A) Survival (B) Conservation

(C) Nature (D) Sustainability 1)
(v) ___ 1is a process of developing a business plan, launching and

running a business using innovation to meet customer needs and to

make a profit.

(A) Business Studies (B) Market Research

(C) Entrepreneurship (D) Business mind 1)
(vi) ___ 1is a state of feeling upset, annoyed and hopeless in achieving

our goals.

(A) Low self-esteem (B) Neuroticism

(C) Stress (D) Personality disorder 1)
Answer any 5 out of the given 6 questions : 5x1=5
(1) This stage of design is dedicated to understand user needs &

objectives.

(A) Test (B) Prototype

(C) Define (D) Empathy 1)
(1) __ 1s the twisting together of strands of fibers.

(A) Combing (B) Spinning

(C) Weaving (D) Knitting (1)
(111) Why COSHH assessments are carried out ?

(A) To assess the cost

(B) To assess the materials used for product

(C) To assess the health hazards if chemicals are produced while

making a product
(D) To assess the structure of chemicals. 1)
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(iv)

v)

(vi)

TG = 30 T Tfd o foTT T Bid SRAcE 6t | 35k ek 3 39 sfa °
festrea foawu Siiew % fofu wat | 97 39 Bfa @l gutfed o o foe fopm affesr
T ITIT HTT ?

(A) i fesmsa (B) e

(C) WIShHIETTR T (D) R (1)
% frem % qed wn Ol o @ 3@ % R awil % oA B e #
TETTd T H WU § |

(A) FEOH (B) M= &=

(C) frepea (D) T (0}

 amft 97 gt & S uielm & o B & S foh wamfae s g S
Bl 8 3TR ST ST o T T bl ITH Ll 8 |

(A) TR (B) ST

(C) oM (D) et (1)
feu w6 oAt ® @ foRel 5 AT o I AT : 5x1=5
(i) whfcegEg M A afiepiat  HT @aU g dha 2 |

(A) &R AP (B) miEush feer

(C) Fgw= (D) I (1)

(i1)

(i)

€ D E1 TSI & S “Hiehedl (ST M) S~ & forw ufig g 9 =i o ‘gl
HEA ?

(A) R (B) TSRId

(C) e (D) Gl (1)
AT (ILO) %1 3o &9 ford |

(A) e e ARSI (B) sfex st ARSI

(C) STEIFA TR AT STAATGIA (D) FEETAA T B (1)
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(iv) Gaurav downloaded an image for his class presentation. His teacher
ask him to add design details in the image. Which software will he

use to edit that image ?

(A) In design (B) Cad pro

(C) Microsoft Excel (D) Photoshop 1)
(v) In law of __ | we automatically fill in gap between elements to

perceive a complete image.

(A) Closure (B) Common region

(C) Proximity (D) Simplicity 1)
(vi) ___ materials are those materials that are made of polymers that

are joined by chemical bonds, acquiring a slightly cross linked

structure.

(A) Thermoplastic (B) Elastomer

(C) Thermoset (D) Polyethylene 1)
Answer any 5 out of the given 6 questions : bx1=5
(1) Formaldyhyde and resin can cause ______ to workers.

(A) Heart attack (B) Muscular disorder

(C) Blindness (D) Asthma 1)
(11) State famous for its marquetry work, which is called ‘Sadeli’ by local

people.

(A) Kashmir (B) Gujarat

(C) Kerala (D) Punjab 1)
(111) What is the full form of ILO ?

(A) Indian Labour Organisation

(B) Indian Labour Law Organisation

(C) International Labour Law Organisation

(D) International Labour Organisation (1)
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(iv) oTg T <ht Uik st aefit vg=m

=

A) Tfem (B) wifsh

(C) TragIH D) fi 0))
) el See o o ot & P o o 4w 3w A et e £ |

(A) difem (B) Wfean

(C) Hfem (D) FA-FEA (1)

(vi) IE MY ITHLU MYhaisli H§ §gd Al & difch Ig dgd 3T aardt
JETIHAT < foHT ITANTHRATST hl FTgE TR AT 1 STEFT & UTH i HT Th
3 T 2 |

@A) EET (B) Ihd T4

(C) =T Bl (D) e (1)
feu w6 et ® @ fopel 5 T o I T : 5x1=5
() fese Rifs =1 =g Tae] v 3R fommd 1l g Scme A agem F IR F 2 |

(A) SRRTEd (B)

(C) fewrsd (D) 3sfede 0))
(i) TS Ufsha 1 W S UEEM |

(A)  Sefm — g — fufd (B) wifgm —sefm — fufdm

(C) ifem — fufer — sefm (D) fuferr — oifem — sefhm (1)
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(iv)

Identify the picture of metal forming process :

+

| —d

= =

ﬂ‘ﬂ

(A) Rolling (B) Forging

(C) Extrusion (D) Swaging 1)
(v) ____ 1is a method of textile production in which two sets of yarns are

interloped.

(A) Weaving (B) Felting

(C) Knitting (D) Non-woven 1)
(vi) This research tool is very popular among researchers as this is an

easy way to get user input and validation very early without

requiring a lot of preparation.

(A) Shadowing (B) Focus group

(C) Card sorting (D) Survey 1)
Answer any 5 out of the given 6 questions : bx1=5
(1) This phase of design thinking is all about experimentation and

turning ideas into tangible products.

(A) Prototype (B) Test

(C) Define (D) Ideate 1)
(1) Identify the correct order of weaving process.

(A) Battening — Shedding — Picking
(B) Shedding — Battening — Picking
(C) Shedding — Picking — Battening
(D) Picking — Shedding — Battening 1)
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(iii) TS AT BUTE AT H HIS[G hTelHeh TR o JTcAfeh ST & _ grEehal

(iv)

(v)

2|

(A) &g (B)

(C) ==aA (D) TIETNY (SHTSICH) 1)
it awwEs e |

A) v (B) e

(C) watsed (D) TSeH (1)

3R ferueuTea ot s= o for iR a1t gt <t siiaet s 8 | 319 ford et
T A @ ?

(A) & (B) wifeat fesmed

(C) = 3id o] Frft (D) << & (1)
(vi) T8 @S s femms ffen s e A T R ¢

(A) T HqfS <l S@Il & (B) WhIEet SRH

(C) = ffead e (D) ot T T A &1 Hehel & ¢))
fqu e 6 woi # @ fopgi 5 T o IR ST ; 5x1=5

(1)

(i1)

(iii)

M T 3R Fat % FTER S B A Y @A H weH BH1 S T
& | 91 o Temmea Rifehn & fopa fargra 1 gmifan 8 2

(A) e g (B) 3r&qwal i g

(C) “ea&ydr 1 fagra (D) aTEafeehar i fagT 1)
v Girfd F (particle board) IEART S TIOHT 1950 o 370 H FhH TSI H g8 7

(A) S FeH (B) TG

(C) i (D) TSI (1)

_ fugr= wz frgif@ xar g T ofifves S R@ & 966 9e¥ ¢ % fog ot
ERGT ST T 2 |

(A)  Frehe (B) wuTH
(C) T (D) wHEHAT (1)
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(111) Excess usage of organic solvents present in the dyeing or printing

process can result

(A) Asthma (B) Cancer

(C) Hearing loss (D) Dermatitis 1)
(1v) consists of adjustable arbors with motors.

(A) Shapers (B) Table saw

(C) Jointers (D) Routers 1)
(v)  You have to design a water bottle for Kindergarten child. Which

factors you will keep in mind ?

(A) Usage (B) Complex Design

(C) High end Luxury Material (D) Large Capacity 1)
(vi) Which from the followings is not a benefit of using design thinking at

work ?

(A) Improves customer satisfaction

(B) Foster innovation

(C) Guarantee profit

(D) Can be applied company wide 1)
Answer any 5 out of the given 6 questions : bx1=5
(1) Experimenting at the limits of your knowledge and ability is crucial

in being able to see things differently. This statement shows which

principle of design thinking ? 1)

(A) Human rule (B) Ambiguity rule

(C) Redesign rule (D) Tangibility rule
(11) The first particle board industry was setup in late 1950in .

(A) Uttar Pradesh (B) Gujarat

(C) Punjab (D) Rajasthan 1)
(111) The __ principle dictates that a complete outline is not necessary

to convey the same message as a partial outline.

(A) Proximity (B) Closure

(C) Continuity (D) Symmetry 1)
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(iv) I KUY g forefaa ween pofa: fdfesm g |

(A) dffeTTER (B) W
(C) Ui (D) A (1)
(v) fesga=mg ¢

(A) =T Bl Heet X T e 2 |
(B) fesirea & dqred s, o7 3t Iewa ¥R |
(C) fesmea fad scme w1 femmr 2 |

(D) TesTs STarTeRal o foTe wishe foig ST 2 | (1)
(vi) i T ETRAI Bfe GU1ET 3N B ST & {07 Tehed g1 GiteeRi 2 ?

(A) IS BRIV (B) & 3 feamed

(C) Fs (D) TTgshIETFRE ATha (1)

T Ug - §
(forr—Ioies JohR & W)

TSR IV T AT T 7T 4 T3 § foregl 3 T9HT ol ST ST | Tedish I3 o1
It 20-30 gl G : 3x2=6
TR gRT AT <ht ST ITefl g 9 el semd fafe | (2)
SMART &% =l &1 314 8 ? (2)
T o1 IUTT HH & foredl & el o1 G | ford | 2)
$-FHE TR ? 2)
feu e 6 el 0 @ Tl 4 A1 % I 20-30 Ve 1 T 4x2=8
S ueh v faftr 3 foed fesmet waen =1 g 1 & e fomm 3ea= foham Stman
315 ? (2)
YITq ITE o S8 BTV 3 T Y 8 7 (2
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@1v) 1s the first fully synthetic fibre, developed by Wallace

Carothers.
(A) Polyester (B) Rayon
(C) Acetate (D) Nylon 1)

(v)  What is design ?

(A) Design is merely making things pretty.

(B) Design implies intention, meaning & purpose.

(C) Design is just drawing of the product.

(D) Design creates a focal point for the user. (1)
(vi) Which software is the perfect software for image editing and creating

image compositions ?

(A) Adobe Photoshop (B) Adobe In design
(C) Cad pro (D) Microsoft Office 1)
SECTION - B

(Subjective Type Questions)

Answer any 3 out of the given 4 questions on Employability Skills. 3x2=6

Answer each question in 20-30 words :

6. Write two environmental barriers which are faced by entrepreneurs. (2)
7. What does SMART Goals means ? (2)
8.  Briefly explain any two advantages of using spreadsheet. 2)
9. What is e-waste ? (2)

Answer any 4 questions out of the given 6 questions in 20-30 words each :

4x2=8

10. Brainstorming is a method for generating ideas to solve a design problem.
How ? 2)
11. What are the advantages of cold working process in metal production ? (2)
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17.

18.

19.

20.
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“Sfedt TRENST” 1 Ao & foru fesmea fufs aga amwre @ | Sifedt awemd foma
FERTSAT %l HET AT 8 ? (2)

foret oft fafemior 5618 o o=@l 1 fRel Wt TR @ 79 % g 3r=at & @ #i
wiRTfEra fepan St =feg 2 (2)

Ife ATIH! Teh TN TTSh! o foTu Ueh Wt Sqd sHMT & It AW oA STl s A W& 72 (2)

TSI -3 fEsie & SUAI ! |ie # sare i | (2)
feu e 5 gl 0 @ fopgl 3 TeAl o I 50-80 Ve § ST : 3x4=12
Tesre frfehm o TrTES =0T H IUART B ATet STFHETH ST hi SATEAT W | 4)
AT 3R SHT 91 =1 8 ? e o fafe= o ford | (1+3)

Aol -Eeheieel IR o SR H fofd | 39 foshR & s= & o == gaar-at @
=feg ? 1+ 3)

TEIS ISR o ITHLIN oh JART h! T H | 4)

fesmea fifehm o1 o 2w 2 7 o= 9w &1 & 1 wand et W fewmed ffhT @
R a2 | (2+2)
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13.

14.

15.

16.

17.

18.

19.

20.
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Design thinking is useful when it comes to solving “wicked problem”.

Which problems are called wicked problems ? (2)

Why employees of any manufacturing unit should be well trained to avoid

any hazards ? (2)

If you have to design a study table for a teenage girl, which factors will

you keep in mind ? (2)
Briefly explain the uses of Adobe — In design. (2)
Answer any 3 out of the given 5 questions in 50-80 words each : 3x4=12
Explain research tools for empathise phase of design thinking. 4)

What are warp & weft threads ? Briefly explain different operations of a

loom. (1+3)

Elaborate the term musculo-skeletal disorder. Explain the precautions

one can take to prevent this disorder. (1+3)

Describe the usage of the tools of Adobe Photoshop. “4)

What is the purpose of design thinking ? Name any four areas where

design thinking can be applied. (2+2)
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